“PS INDEXING PRIMER"

Sa1

Saz2
Inzezt TCTAGCCTTCTCGTGTGCAGACTTGRGGTCAGTIG 57

3’ TGTGAGRAAGGGATGIGCTGCGAGAAGG

PS Index

* FIRST INDEXING CYCLE
> 37

5" AATGATACGGCGACCACCGRGATC TACACGCGTARGARCACTCTTICCCTACACGACGCTCTT
3’ TGTGAGRAAGGGATGIGCTGCGAGAAGG

5" AATGATACGGCGACCACCGRGATCTACACGCGTARGARCACTCTTICCCTACACGACGCTCTTCC

TCTAGCCTTCTCGTGTGCAGACTTGRGGTCAGTIG 57

* CYCLE 2+

AGRTCGGRAGAGCACACGICTGRACTCCAGTCAC 237

I9190¥IVIIIIVIOLIVOIOLOVILIODINIWIOUIVIOOIWONWIOWIOWRD S  “P7 INDEXING PRIMER”

3r

S AATGATACGGCGRCCACCGAGATCTACACGCGTAAGARCACTCTTITCCCTACACGACGCTCTTCC
3’ TIGTGAGRAAGGGATGIGCIGCGAGRAGG

€5 bp
57 AATGATACGGCGACCACCGAGATCTACACGCGTARGARCACTCTTTCCCTACACGACGCTCTTCC
37 TTACTATGCCGCTGGTGGCTCTAGRTGTGCGCAT TC TTGTGAGARAGGGATGTGCTGCGAGAAGG

Index P7

3’
>
TCTAGCCTTCTCGTGTGCAGRCTTGRGGTCAGTG 57

Minimum length for insert of 30 bp is 161 bp. Selected b/w 160-400 bp

13
AGRATCGGRAGAGCACACGTICTGRACTCCAGTCACACTGAGCGATCTCGTATGCCGTCTICTGCTITG 37

* FINRAL LIBRARY

TCTAGCCTTCTCGTGTGCAGRC TTGAGETCAGTGTGACTCGCTAGRGCATACGGCAGRAAGRCGAAC S

Note that if the insert is 84 bp or less, it will sequence through the adapter, index and P7 (or PS) on the 23’ end...

SEQUENCED AS...

Read 1 s’
Index 1 (aka the i7" index]) I3 READ AS: actgagcg

Index 2 (aka the "i5" index) I3 READ AS: GCGTAAGR

Read 2 LY

30 bp inserts could have up to 54 bp of poly G or N tail, because ‘G’ is sequenced as a dark cycle. Shorter inserts will have more.

AGATCGGRAGAGCACACGTCTGAACTCCAGTCACACTGAGCGATCTCGTATGCCGTCTICTGCTTG 27
This is why the REVERSE COMPLEMENT {(actgagcg) of the index (CGCICAGT) is entered into the sample sheet.

This is why the normal index (GCGTAAGR) is entered into the sample sheet.

GGRAGAGCGTCG TG TAGGGARAGAGTGTICTTACGCGTGTAGATCTCGGTGGTCGCCGTATCATT 37



